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1. In the given parallelogram, which of the following statements are true?

a) LO=0K
b) LO=0OM
c) AOKL=AOMN
d) LLOK=£ZNOM
e) LLMN = £LNKL

N M

K L

(i) {cd,e} (ii) {bd} (i) {a,cd} (iv) {a,c} (v) {ab,e}

2. In parallelogram PQRS, diagonals QS and PR intersect atT. Then PQ ||
5 R

P Q

(i) QR (i) QS (iii) RS (iv) SP (v) PR

3. In parallelogram CDEF, diagonals DF and CE intersect atG. Then EF ||
F E

C D

(i) CE (ii) DE (iii) FC (iv) CD (v) DF



4. In parallelogram GHIJ, diagonals H) and Gl intersect atK. Then JG ||
] I

X

[}

H

(i) 1 (i) GH (i) HI (iv) GI (v) HJ

5. In parallelogram PQRS, diagonals QS and PR intersect atT. Then QR ||
5 R

X

o

Q

i)y PR (ii) RS (i) QS (iv) PQ (v) SP

—

6. In parallelogram LMNO, diagonals MO and LN intersect atP. ThenLM
0] N

X

-

M

—

i) LN (ii) OL (iii)) MO (iv) NO (v) MN

7. In parallelogram DEFG, diagonals EG and DF intersect atH. ThenFG =
G F

X

g

E

(i) EG (ii) EF (iii) DF (iv) DE (v) GD



8. In parallelogram BCDE, diagonals CE and BD intersect atF. ThenEB =

E D
B c

(i) CE (ii) BD (iii)) DE (iv) BC (v) CD

9. In parallelogram GHIJ, diagonals H) and Gl intersect atK. ThenHI =
%
G H
(i) GH (ii) 1 (iii) JG (iv) GI (v) H)

10. In parallelogram DEFG,diagonaIs'EG and DF intersect atH. Then AGDE =
.
D E
(i) ADEH (ii) AFGH (iii)) AFGD (iv) ADEF (v) AEFG

11. In parallelogramEFGH, diagonals FH and EG intersect atl. Then AFGH =
H G

E F

(i) AGHE (ii) AGHI (iii) AHEF (iv) AEFG (v) AEFI



12. In parallelogram ABCD, diagonals BD and AC intersect atE. Then ACDA =
D c

A B

(i) ADAB (ii) AABC (iii) ACDE (iv) ABCD (v) AABE

13. In parallelogramEFGH, diagonals FH and EG intersect atl. Then AEFG =
H G

E F

(i) AHEF (ii) AEFI (iii) AGHI (iv) AGHE (v) AFGH

14. In parallelogram CDEF,diagonals DF and CE intersect atG. Then LFCD =
F E

& D

(i) £LCDE (ii) 4DEF (iii)) £CDG (iv) ZEFC (v) LEFG

15. In parallelogramPQRS, diagonals QS and PR intersect atT. Then ZQRS =
5 R

P Q
(i) £LRST (ii) £RSP (iii) £SPQ (iv) £ZPQT (v) Z4ZPQR

16. In parallelogram ABCD, diagonals BD and AC intersect atE. Then LABC =
D c

A B

(i) £LABE (ii) £4BCD (iii) 4CDE (iv) £CDA (v) 4DAB



17. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then ZPQN =
Q P

X

M o]

(i) £QNO (ii) 4£PQR (iii) £OPQ (iv) £4NOP (v) 4NOR

18. In parallelogram OPQR,diagonals PR and OQ intersect atS. ThenQS =
R Q

X

o

P

—

i) PQ (ii) RS (iii) OS (iv) RO (v) PS

19. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. ThenHK =
] |

\

@

H

(i) 1K (i) JK (iii) GK (iv) HI (v) )G

20. In rhombusMNOP, diagonals MO and NP intersect atQ. Then MN ||
P O

X

=

M

—_

i) OP (ii) NO (iii) PM (iv) NP

21. In rhombusCDEF, diagonals CE and DF intersect atG. Then EF ||
F E

[

D

(i) FC (ii) DF (iii) CD (iv) DE



22. In rhombusPQRS, diagonals PR and QS intersect atT. Then SP ||
R

¥ 4]

B Q
(i) RS (i) QS (iii) PQ (iv) QR

23. In rhombusEFGH, diagonals EG and FH intersect atl. Then FG ||
H G

E F

(i) EF (i) GH (iii) FH (iv) HE

24. In rhombusKLMN, diagonals KM and LN intersect atO. ThenKL #
N M

-~

L.

(i) LN (ii) MN (iii) NK (iv) LM

25. In rhombusHIJK, diagonals HJ and IK intersect atL. Then K=
K ]

H I

(i) 1) (i) KH (iii) IK (iv) HI

26. In rhombusBCDE, diagonals BD and CE intersect atF. ThenEB =
E D

B

M

(i) BC (ii) CE (iii) DE (iv) CD



27. In rhombuslJKL, diagonals IK and JL intersect atM. Then )K=
L K

N
N

| ]
(i) KL (i) JL (i) 1J (iv) Ll

28. In rhombus MNOP, diagonals MO and NP intersect atQ. Then APMN =
P O

M N

(i) AMNO (ii) AQMN (iii) ANOP (iv) AOPM

29. In rhombusPQRS, diagonals PR and QS intersect atT. Then AQRS =
5 R

P Q

(i) ATPQ (ii) ARSP (iii) APQR (iv) ASPQ

30. In rhombusBCDE, diagonals BD and CE intersect atF. Then ADEB =
E D

B C

(i) AFBC (ii) AEBC (iii) ACDE (iv) ABCD



31. In rhombusFGHI, diagonals FH and Gl intersect at). Then AFGH=

X

-

G

(i) AJFG (i) AHIF (iii) AGHI (iv) AIFG

32. In rhombusOPQR, diagonals OQ and PR intersect atS. Then ASOP &
R Q

X

Q

P

(i) ASQP (ii) ASOR (iii)) AROP (iv) ASQR

33. In rhombusHIJK, diagonalsIHJ and IK intersect atL. Then ALJI &
K J

X

I

(i) ALHI (ii) ALK (iii) ALHK (iv) AKHI

34. In rhombusKLMN, diagonals KM and LN intersect atO. Then AOMN
N M

X

-~

L

(i) ANKL (ii) AOKL (iii) AOKN (iv) AOML



35. In rhombusMNOP, diagonals MO and NP intersect atQ. Then AQMP &
P 8]

X

=

N

(i) APMN (ii) AQOP (iii) AQON (iv) AQMN

36. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZOLM =
N

o

?

L M

(i) £LLMN (ii) £MNO (iii) £ZNOL (iv) Z£LMP

37. In rhombusABCD, diagonals AC and BD intersect atE. Then ZBCD =
D c

X

A B

(i) £DAB (ii) £LABE (iii) £ABC (iv) 4CDA

38. In rhombusHIJK, diagonals HJ and IK intersect atL. Then ZHlj=

A

H I

(i) £HIL (i) £ZKHI (iii) Z)JKH (iv) ZIl)K

39. In rhombusCDEF, diagonals CE and DF intersect atG. Then LEFC=
F E

X

|

D

(i) LCDG (ii) £LCDE (iii) 4FCD (iv) £LDEF



40. In rhombus]KLM, diagonals JL and KM intersect atN. Then £ZKN] =

=
=
~
=

[

(i) £MJK (i) ZLNK (iii) £MNL (iv) ZJNM

41. In rhombus MNOP, diagonals MO and NP intersect atQ. Then ZPQO =
P o

X

=

N

(i) £PMN (ii) £ZNQM (iii)) £OQN (iv) £4MQP

42. In rhombusBCDE, diagonals BD and CE intersect atF. Then ZBFE =
E D

X

m

€

(i) LEFD (ii) £CFB (iii) 4DFC (iv) £EBC

43. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ZPRO =
Q P

X

N o

(i) £QRP (ii) £ORN (iii) £QNO (iv) 4ZNRQ



44. In rhombusOPQR, diagonals OQ and PR intersect atS. Then LSOP =
R Q

O P

(i) £OSR (ii) £SQR (iii) 4PQS (iv) £ROS

45. In rhombuslJKL, diagonals IK and JL intersect atM. Then ZMKL #
L K

| J
(i) £IML (i) £JKM (iii) £LIM (iv) £Ml]

46. In rhombus CDEF, diagonals CE and DF intersect atG. Then ZFCG =
F E

]

D

(i) £GEF (ii) £CGF (iii) 4DEG (iv) 4GCD

47. In rhombusFGHI, diagonals FH and Gl intersect at). Then ZGH) =
| H

F G

() ZJHI (i) ZIF) (i) ZF) (iv) ZJFG

48. In rhombusBCDE, diagonals BD and CE intersect atF. Then ZFEB =
E D

m

c

(i) LFCD (ii) 4BCF (iii) £LEFD (iv) 4DEF



49. In rhombusCDEF, diagonals CE and DF intersect atG. Then LGDE #

X

M

D

(i) £GFC (ii) £4FGE (iii) 4CDG (iv) LEFG

50. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then ZGHK =
] I

X

[A)]
T

() ZJKI (i) ZKHI (i) ZIJK (iv) £KJG

51. In rhombusHIJK, diagonalsIHJ and IK intersect atL. Then £JKL =

B

T

(i) 4Ly (i) £HIL (i) £KLY (iv) £ZLKH

52. In rhombusGHIJ, diagonals Gl and HJ intersect atK. ThenJK=
] |

X

]
o

(i) 1K (i) GK (iii) JG (iv) HK



53. In rhombusKLMN, diagonals KM and LN intersect atO. ThenLO =
M

=

X

K L

(i) NO (ii) KO (iii)) MO (iv) NK

54. In rhombus MNOP, diagonals MO and NP intersect atQ. ThenMQ =
P O

X

=
=

—

i) PM (ii) OQ (iii) PQ (iv) NQ

55. In rhombusEFGH, diagonals EG and FH intersect atl. ThenGl=
H G

X

m

F

(i) HI (i) FI (iii) EI (iv) HE

56. In trapeziumABCD, AC and BD are diagonals.Then AB ||
D C

X

A B

(i) BD (ii) CD (iii) AC (iv) BC (v) DA



57. In trapezium OPQR, OQ and PR are diagonals.Then QR ||
R Q

O P

(i) RO (ii) OP (iii) PR (iv) OQ (v) PQ

58. In kitelJKL, IK and JL are diagonals. Thenl) =
K

(i) IK (i) JL (i) JK (iv) LI (v) KL

59. In kiteKLMN, KM and LN are diagonals. ThenNK =
M

K

(i) KL (ii) KM (iii) LM (iv) MN (v) LN



60. In kiteKLMN, KM and LN are diagonals. ThenLM =
M

K

(i) KL (ii) KM (iii) MN (iv) NK (v) LN

61. In kite CDEF, CE and DF are diagonals. ThenEF =
E

C

(i) CE (ii) FC (iii) DF (iv) DE (v) CD

62. In kiteNOPQ, NP and OQ are diagonals. Then LNOP =

P

N

(i) £NRO (ii) 4PQN (iii)) £ZNQO (iv) 4ZNRQ (v)

£PQO



63. In kite MNOP, MO and NP are diagonals. Then LZOPM =
O

M

(i) £MQN (ii) £OPN (iii) £MNO (iv) 4ZMPN (v)

64. In kiteHIJK, HJ and IK are diagonals. Then ZHLK =
]

H

(i) ZJKI (ii) £ZHKI (iii) £H1l) (iv) ZHLlI (v) ZJKH

65. In kitelJKL, IK and JL are diagonals. Then £IM] =
K

(i) £y (i) £KLI (i) £JK (iv) ZIML (v) Z£ZKL

66. In kiteHIJK, HJ and IK are diagonals. Then AJKH=
J

H

(i) AJIH (i) AKIH (i) ALKH (iv) ALI (v) AKI)



67. In kiteNOPQ, NP and OQ are diagonals. Then APON =
P

N

(i) AQOP (ii) APQN (iii) ARPO (iv) ARQN (v) AQON

68. In kiteHIJK, HJ and IK are diagonals. Then ALKH =
]

H

(i) AKI (i) ALIH (iii) AKIH (iv) ALK (v) ALJI

69. In kiteKLMN, KM and LN are diagonals. Then AOLK=
M

K

(i) AONK (ii) AOML (iii) AOMN (iv) ANLK (v) ANLM



70. In kiteHIJK, HJ and IK are diagonals. Then ALJK =
J

H

(i) AKl (i) ALKH (iii) AKIH (iv) AUl (v) ALIH

71. In kiteJKLM, JL and KM are diagonals. Then ANLK =
L

]
(i) ANMJ (i) ANLM (iii) ANKJ (iv) AMKL (v) AMK]

72. In kiteJKLM, JL and KM are diagonals. Then ZMJN =
L

J
(i) £LNLK (ii) £ZNLM (iii) £ZKJN (iv) £ZMNL (v) ZJNM

73. In kitelJKL, IK and JL are diagonals. Then £JIM =
K

(i) £MKJ (i) £LIM (iii) £ZLMK (iv) ZIML (v) £MKL



74. In kiteLMNO, LN and MO are diagonals. Then ZPNO =
N

L

(i) £LPO (ii) £OPN (iii)) £OLP (iv) 4ZPNM (v) AMLP

75. In kite OPQR, OQ and PR are diagonals. Then £LSQP =
Q

O

(i) £SQR (ii) £POS (iii) £OSR (iv) £ZROS (v) £ZRSQ

76. Which of the following figures is a regular quadrilateral?
G F

C D D EE F F G G
square rectangle rhombus parallelogram trapezium

(i) rectangle (ii) parallelogram (iii) square (iv) trapezium (v) rhombus

In the given figure, GHIJ is a parallelogram.
" IfGRandHRare bisector of ZG& £H, find LR

] I

G H

(i) 88° (ii) 91° (iii) 89° (iv) 92° (v) 90°



78. BCDE is a rhombus. Q, R, S and T are mid-points of sides BC, CD, DE and EB. Find £ZRST
E 5 D

Q
B C

(i) 89° (ii) 88° (iii) 91° (iv) 90° (v) 92°



Assignment Key

1) (i) 2) (iii) 3) (iv) 4) (iii) 5) (v) 6) (iv)

7) (iv) 8) (v) 9) (iii) 10) (v) 11) (iii) 12) (ii)
13) (iv) 14) (ii) 15) (iii) 16) (iv) 17) (iv) 18) (iii)
19) (ii) 20) (i) 21) (iii) 22) (iv) 23) (iv) 24) (i)

25) (iii) 26) (ii) 27) (ii) 28) (iii) 29) (iv) 30) (iv)
31) (ii) 32) (iii) 33) (iv) 34) (i) 35) (i) 36) (ii)
37) (i) 38) (iii) 39) (ii) 40) (i) 41) (i) 42) (iv)
43) (iii) 44) (i) 45) (i) 46) (ii) 47) (iii) 48) (iii)
49) (ii) 50) (i) 51) (iii) 52) (iv) 53) (i) 54) (ii)
55) (iii) 56) (ii) 57) (ii) 58) (iv) 59) (i) 60) (iii)
61) (iv) 62) (ii) 63) (iii) 64) (iv) 65) (iv) 66) (i)

67) (ii) 68) (ii) 69) (i) 70) (iv) 71) (ii) 72) (iii)
73) (i) 74) (iv) 75) (i) 76) (iii) 77) (v) 78) (iv)
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